Pre-Calculus A Name : Kﬂj

Section 7.3 Homework

Solve the system of linear equations using substitution.

2x+4y+z=1 ©
1. x—2y—3z=2 @
x+y—z=-1 @

Soweeqn 1 for 2: Z:(-3x-4y

$ub. WD cqn 2°
X-2y-3 (1-2x-y) = 2
X-2y-3 +bx +12y=2

Sub nto eqn 3
x+y-(1-2x-ay)=-1
ISTRIE 2x 44y = -

Golve hew ¢ystem:

1Xa\0y= 5 s 1x+|o/-€
-1(3)({5\{10) ~%-| 1:0

ix=6

=2

Sub. X2 5 into nNew 3

36 )+ by <0
6,-3, 3
(5459 0 Sowwnon - (5,-3,3)

G5y=-19
(93 |

Sub X=6 0nd Y=-3 nt0 eqn1:
1= 1-206) -403)
= \-\10+12

\2:3

Date : Period :



Solve the system of linear equations using elimination.

3x=5y+5z=10
2.45x—2y+3z=00)
Tx—y+3z=0 ©)

* glimwnate Y

Equatons ® and &

—2(3x-5v+5‘i=\) -lox+\?(%¢-\0?~—-1

5 (sx-2y+32=0> 2 en -l y+162:=0

,—-—--—-—-——-____#"_"--;.,_..—--.
aX +952 = -2 new |

gquations @ and®
5%'23*’32:0 Y Sx-zf-ng:O

22 (Ix-y+3270)  -axspy-b2=0

CoIve NEW System:

3 (1axx6z=-a) suu;/;
z

c(-ax-33=0) 2 -46x-|

-0
0

(L]

l2x=-b

5]

Sup X=-Y2 (NTO NEWa:
-q(-Y2)-32:0
q-g-aifo

-32--4.§

I%=\.?l

Sub X=-Y2 and 2:19 N0 ¢4n 1:

sownon (-Vz, \, lS)J

3(-12) -5y +6(16) =1
“16-6y+1.6 =1
-6y+b=|
~by=-5

[y:1]



C=(ukfee ; d=donut; t=hp
3. On Monday, Ms. Rabinko’s favorite customer at Dunkin Donuts paid $1.70 for two cups of coffee and

one donut, including the tip. On Tuesday, he paid $1.65 for two donuts and a cup of coffee, including the
tip. On Wednesday, he paid $1.30 for one coffee and one donut, including the tip. If he always tips the
same amount, then what is the amount of each item?

2¢4d et=110 0

cradet= 1o @
v tt=130 @
Suive eqn for d Sub ¢= O.M0 W new eqn 2 Cobbee: B0U0
4= 1.10-2¢-¢ -3(0,40)“1? = -6 C\Dn\“—‘_ 8056
supwnro egn 2: -1a0-t =8 tip: 8099
c4+2(10-2e-t) vt =100 -t:-.6§

C+ JNO-UL-2E+E N6 | tfo-ggl
——_—— —

g 5
-3c-t =-1.16 new 1

Sub Nt <4N 3 sub €2 0.40 and £=0.CS Nt egn 1

10-2¢-t) tt =130
¢+ (110-2¢-t) 4= 170~ 20.40) ~OSS

~¢ =-0M

n=niceer§ 4. Harry has $2.25 in nickels, dimes, and quarters. If he had twice as many nickels, half as many dimes,

4= dwmes and the same number of quarters, he would have $2.50. If he has 27 coins all together, then how many
Q=quaritlt ot each coin does he have? |
d+Q=al SoIve NeEw Sycirm:

: +dtQ:

nd+Q:=37 R n . s
<05n+.10d+.25Q =335 2 4090+ 104 £.260 =349 e oD
zLo‘:)n»%(.wd)r.zs(,):’l.s‘o 100 +.004+.25G=3.50 e

[a:a]

Sowve egnl for 0 ,
n-a1q—d-Q Cub Q=2 o new 2 Sup @=2and d =10 o Q)
-0‘}&*-10(2)=0-q0 n=31-10-3
Gub nto e 2 Sup nto eqn 3. . 06d *.40: 680 |
§ 26Q * \ n=o
.06(21-4-Q)+.10d+. 260 =335 10(p1-4-0)+,06d +. 260 2250 , / .05d = 0.0
136054064 +100+.25Q 73S 370104 - 108 +.0d #2603 \m
3 : S |6 MICkel S

&1;&9/;% new f‘) &o‘;d +19Q<=-0.10 h’_t_ver 2
I ' — T — —

T ———

\0 Avmes
2 Quarter

Answer Key:
1.(5,-3,3) \./ 2.(-%,1,1.5) \/

3. Coffee: $0.40, Donut: $0.35, Tip: $0.55 \/ 4, 15 nickels, 10 dimes, 2 quarters /|




